HOBSE L PR AR R

N 1 YE 2024 %3 H 13 H B =
=R | 1ENkSRR FEME N2 P 5E T
(60 438 )
T 1. Ay 20
B
Mk
i KA 6.5 (2) 20
B
Mk
i 1. ¥rEZ:>] 3, 26-60 [, c i 20
T, BRE L
G
2. W IER B A exercise3 4
3k % 2] unitl unit2
Hh 3 RETii)
Ve K 60  Jphd

AR #55




HOBSE L P AR AR R

NG 2 YT 2024 = 3 A 13 H 2l =
=R FPENV SRR ENE N2 S 5E T
(60 4-8F 1)
et 2 5 20
B
Mk
i KA 6.5 (2) 20
B
F13%
i 1. KA 20
2. 1T IERSA
g —
M1k P UL-U2 4G, WA FEme
=2E'S
(RS RS 60 #f

PEFAE: BB




HOBSE L PR AR R

N 3 BE 2024 4F 1 M £
= PEME 2R YENL & S35 58 B
(60 438D
Fh 1t 1BA (FR) « RAULIASCER— | 20
B i
M3k Ti>] CGRASEIAR)
Tt KA 6.5 (2) 20
G2 .
Fh1 1. 48 ORI 3 AE SO
3k 1 A4 UL1-U2 1] 4 . 2 i
HEiE 2 53>] U1-U3 KA 0+ i+ 10
A A
RNFSERESS I35

PEFAT: HSRH




HOBSE L PR AR R

NG 4 TR 2024 %3 H 13 H 3
=y ) FEMPR R ENL P 5E T
(60 438F )
F 1.9 B E YD 5 It 20
‘ 2MEANH =B (..., H
59’8
T )
Mk
FHE KA 6.5 (2) 20
M=k
F e 1. BEA U3E4; 15
2NEXRATERIEXERS . 5
G
AEE ) 1. 2>] U1-U3;
2. 5 3K p15-18, HHER.
B RES 60 4%t

PEEAE: (1%




HOBSE R PR AR

INTELR 5 HE 2024 F 7 H B
#F e YENL & 2 5E AR
(60 738 )
REll] 1. ZRoJMFER 10 D28 1/, 13-14 7
1729’8 2. BEA 57 1T
Fk
REll] 1. KA 6.5 (2) 20
Ky o
ot WhEZR>) 3 ] 26-60 & 20
JEIH VT IER A exercise3 4 4 it
M1k & >J unitl A1 unit 2
RFSYERS 60 73 fh

PEFAE: RA




HOBSE L PR AR R

N 6 HE 2024 H H =yt
=y ) FEMPR R ENE N2 P 5E T
(60 4-8F 1)
F 1. ZR>JJEE 10 TUEE 1 4, 13-14
Pl
59’8
2. A BT I
Mk
SETIHRAERN 4 1. A 6.5 (2) 20
B
M=k
SETIHRAEN 4 1. Hegl (W J3RNBE EAMED
M3k 1 32 UL-U2 JA4H 5 2 i
R 2 52 3] UL-U3 BEARZ 1L +55 8+2E 10
A D
VeV K S Bh

PEFEAT: HE%E




HOBSE L PR AR R

N 7 HE 2024 H H N
=y ) YENV IS HL ENE N2 P 5E T
(60 438 )
P 1.9 B E YD 5 It 20
E 2S5 E =B (... i, H
T )
M=k
SENaKiN4 1. A 6.5 (2) 20
Mk
P 1. w4l (W JHECAE) 20
s 2. B SITER AR B AN 2E i
M=k
Ve K 60  Z 4

AR L2




HOBSE L PR AR R

N 8 TR 2024 H H N
=y ) FEMPR R ENL P 5E T
(60 4347 )

i WIEE TR EA B 20

T (CERl Ay s
Mk
P e KA 6.5 (2) 20
M=k
FHEE R4k (W JHEXAE) 20

G
Mk

R F=VRS 60  rif

YEFAE: FhGH




